
MODULAR  FIREPLACE 
Connecting fireplace instruction

VR: 1.03/4/2018



Right fireplaceLeft fireplace

(N6) Trim bracket
for connecting 
fireplaces (x2)

(N8) Partition ceramic 
glass bottom trim with
gasket 200mm Lang (x2)

(N7) Partition ceramic
glass top trim with
gasket 180mm Lang (x2)

  525    1
5 

 

(N14) Back external
 gasket

(N5) Partition
 ceramic glass

(N10) Screw M6X30
din 933 (x18)

   (N2) Grill for   
   Left fireplace

(N4) Left ceramic glass

(N1) Grill for  
Right fireplace

(N3)Right
 ceramic glass

  371  (N15) Top\Bottom 
external gasket

  400  (N16) Back internal
 gasket

  316  

(N9) Screw M6x25 
Countersink 90  (x8)
din 965
for top\bottom trim
holder glass.

(N13) NUT M6 
din 934 (x8)

(N11) Washer M6
din 9021 (x16)

(N12) M6 curved
spring lock washer
din 128 (X8)

(N17) Top\Bottom
internal gasket

ASSEMBLY PARTS LIST

page (1)
3/4/2018



External back gasket (N14)

External bottom gasket(N15)

RIGHT FIREPLACE
TOP VIEW

Trim connected fireplace,
top and bottom (N6).
Comes with a fireplace attached 
with loose screws .

  4.5  

DETAIL O
SCALE 1 : 2

DETAIL Z
SCALE 1 : 2

External top and
back gasket (N14+N15)

1.  Remove the front ceramic glass(N3+N4).
     keep each glass to is fireplace.
2.  Remove the grill from the fireplace(N1+N2).
     keep each grill to is fireplace.
3.  Remove the trim holder(N7+N8) 
     partition glass top and bottom.
4.  In the right fireplace,
     stick the gasket to external 
      top, back and bottom.  
      

The gasket stands out
 4 to 5 mm outward

External top gasket(N15)

RIGHT FIREPLACE
BACK VIEW

Fireplaces Connection instructions 

page (2)
3/4/2018



Connect the fireplaces together
5.  Adjust the fireplaces facing each other.
6.  Mack sure that all screws feet's position.
      

Top side screws(N10).

Bottom side screws (N10)

DETAIL AA
SCALE 1 : 2

DETAIL AB
SCALE 1 : 2

Top connection(N6)

Bottom connection(N6)

Screw (N10).

Washer (N11).

Spring lock 
washer (N12).

Nut (N13).

page (3)
3/4/2018



External view 
from top

Trim screws(N10)

External view 
from bottom

Trim screws(N10)

7.   Connect the connecting screws(N10)
      half way (top and bottom sides).
8.   Close the trim screws all 
      the way
9.   Tighten all screws gradually 
      and simultaneously.
10. Insert the back trim
      screws (top and bottom sides).
     

Fireplaces
(N10+N11+N12+N13)
connecting
screws

Back trim screws(N10)
top and bottom, insert
when the fireplaces
are connected.

page (4)
3/4/2018



Internal back gasket(N16)

Internal bottom gasket(N17)

Internal top gasket(N17)

Stick the bottom(N17)
gasket on the 
connecting place
from inside

Stick the top(N17)
gasket on the 
connecting place
from inside

11. Stick the gasket inside
      the fireplace at the 
      connection place

Stick the back(N16)
gasket on the 
connecting place
from inside

page (5)

3/4/2018



RR SS

Insert the glass at the center(N5)

SECTION R-R
SCALE 1 : 5

VIEW 
INTERNAL BOTTOM

SECTION S-S
SCALE 1 : 5

Top holder glass(N7)

Partition glass(N5)

Bottom gasket(N17)

Back gasket(N16)
WW

X

SECTION W-W
SCALE 1 : 20

DETAIL X
SCALE 1 : 1

Left front
ceramic
glass(N4)

Right front
ceramic
glass(N3)

Partition
ceramic 
glass(N5)

13.  Insert the partition glass (N5)at
       the middle of the gasket, all
       the way to the back gasket.

VIEW
INTERNAL TOP

Bottom holder 
glass(N8)

14.  Attach the other side top
       and bottom glass holder.
  
15.  Adjust the glass to the middle
     
16.  Gently tighten the glass 
       holder against the glass.

17.  Fix the grill in is places(N1+N2)
18.  Fix the front glass(N3+N4)

12.  Attach the top and bottom
       glass partition holder on 
       one side close with 
        countersink screws(N9).

page (6)
3/4/2018


	Sheet1
	Drawing View1

	Sheet3
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View45
	Drawing View56
	Drawing View57
	Drawing View58

	Sheet4
	Drawing View24
	Drawing View26
	Detail View O (1 : 2)
	Drawing View51
	Detail View Z (1 : 2)

	Sheet5
	Drawing View28
	Drawing View29
	Drawing View31
	Detail View AA (1 : 2)
	Detail View AB (1 : 2)

	Sheet6
	Drawing View33
	Drawing View35

	Sheet9
	Drawing View40
	Drawing View53
	Drawing View54

	Sheet7
	Drawing View37
	Section View R-R
	Section View S-S
	Drawing View43
	Drawing View47
	Section View W-W
	Detail View X (1 : 1)


